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Quiz 1

Circle your recitation:

10:00 1. Gifford/Candea 13. Chapin/Almeida

11:00 2. Gifford/Almeida 7. Chapin/Candea 12. Karger/Fu

12:00 6. Rinard/Rusnak

1:00 3. Rivest/Fu 8. Saltzer/Mazieres 9. Rinard/Sapuntzakis 11. Karger/Kwon 14. Ward/Rusnak

2:00 4. Rivest/Sapuntzakis 5. Ward/Mazieres 10. Saltzer/Kwon

For Official Use Only

This quiz contains 3 problems whose relative weights are given below. Please write your
answers in the space provided, and hand in this booklet at the end of the examination.

Put your name on this cover sheet AND at the bottom of each page of this booklet. Be sure
that you don’t put part of the answer to a problem on the back of a sheet for another
problem.

Some parts of some problems may be much harder than others. Read them all through first
and attack them in the order that allows you to make the most progress. Some problems are
intentionally ambiguous; be sure to write down any assumptions you make. Show your
work, or you risk losing partial credit. Be neat. If we can’t figure out your answer we can’t
give you credit. On answers that involve numbers, be sure to clearly specify the units of
your answer.

Remember, the quiz isopen book.

Problem Your Score
Maximum
Score

1 30
2 40
3 30
Total 100
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Name:

1. (30 points) Circle exactly one answer to the following questions (choose the best answer):

a. Recitations in 6.033:

1) Are not scheduled by the registrar, and require you to call Prof. Kaashoek at home to
find a suitable time.

2) Are an essential part of  the 6.033 educational experience, and participation in
recitation discussions contributes to your final grade.

3) Are no longer held, and by not attending them you have cleverly saved a great deal of
time waiting in empty rooms.

4) Have been recently increased in length from 50 minutes to 3 hours due to popular
demand.

b. The errors in the Therac-25 system:

1) Were in the terminal handler, and that is why the company suggested removing the
terminal up-arrow key.

2) Were dependent on timing.

3) Were caused by writing the system in assembly language which caused compatibility
problems when the code was ported from the Therac-20 system.

4) Could have been fixed by correctly decoding the turntable position signals.

c. The process primitives of the UNIX system:

1) Create a new "forked" process and initialize its address space to zero.

2) Do not permit processes to wait because processes are easily terminated and new ones
started.

3) Are used by the shell to create a single process for the command "ls | more" .

4) Let newly created processes inherit pipes to facilitate inter-process communication.

d. The Eraser system:

1) Detects synchronization errors by computing the "happens before" relation.

2) During compilation places checks at lock and unlock commands to log what data is
being protected by locks.

3) Considers a variable “shared-modified” as soon as the first store to it executes.

4) May miss synchronization errors.
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